alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

alMest — CrMyrye

020_33’ T=75

Lt

VaRo.g5
.lm|||,.|||'||I|I|I|I||I|I||||II|||I||II|I||I||||II|II.I||I||I|||||||I||II||I|II|II|I|||||||||I||I||||||||||||||

T | | | |
i ) ® 8 10
u
Ix=1.01
TCEo.05

T | | | |
i ) ® 8 10
u
Ix=1.01
ESo.95

T | | | |
i ) ® 8 10
u
Ix=1.01
EVaRo.95

T | | | |
i ) ® 8 10
u
Ix=1.01
midVaRg o5

8 10

alMest — CrMyrye

alMest — CrMyrye

alMest — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

VaRg g5

! 1l |||I|||||||I|||I|||||I||I|I|||||I|II|I||||||||||||||||||||||||||||||||||||||||||||||||-|I|-|$|:|II?|?|-|‘~E5
it II|||||||||I||||||||||||I||I||||I||I|||||I|||||I|I||I|||||||||||||||||||”"|II|IIIIIIIIIIIIIIIIIIIIIIIII

Wiyt

T T | | |

’ ! 6 8 10
U
Ix=1.4

ESo.95

||||||||||||||||III||||||||I||I|||IIIII|IIIII||I|III|I|I|I|IIIIIIIII||I|III|IIIII||II|I|I||I|I|||I|I

|||||I|lul|III||!III

EVaRo.95

midVaRg o5

alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

: |IIII|IIII|I|I|IIIII||IIII||I|I||II|IIY|ﬁII|_\I)m'ff5

: n|||||||||||||||||||||||||||||||||IIII||Ir|Hdﬂ&|y_|$5

"‘“I””I L
I il III,"|||||||||||||||||||||I|||II||I||||||III|I|III|I|| |
||I||||||| Il

8 10

. ann s
o] ||||||||||||||||I||||I||||||I|||||I||||II
© L
e —
L |||||||||||||||||||I|||||||||IIIIIIIIIIIIIII|III'IIIIII|IIII“II|III| (i
|
N+ ||||m||||||||||||||||I|||||II||III
<
T | | | |
i ) ® 8 10
U
Ix=2.4
- EVaRo g5
| !
. | ||||I|||I||||||||I||||||III|IIIIIIII||I|II|II|I|IIIIIIII|III|I||I||III||I||II
O nuumpitit e
e 11
N —
|
<
| | I | | |
i ) ® 8 10
U
Ix=2.4
-- i
i I
- |||||||||||IIII|||||III|I|I|I|IIIIII|IIII|||IIIIII|I|I|I l
° |||III|I|III||IIIII|Ii|||Ii|I|!IIII||||| o - IIIIIIIIIHI—lm”“““"
i [
I|I||I|||I|I||||I|III|||||I||II||
I"IIn|||||||||||I|||||||||||||||||I|II
h
<
| | I | | |
i ) ® 8 10
U
Ix=2.4




arMest = CrMyye

arMest — CMyrye

arMest — CrMyye

arMest — CrMyye

arMest — CMyrye

0=0.33, T=250

VaRg g5

— e:-:q:?';;‘"'I"""I"""""'""""""""""""'-"l'""-"l':-'|I'|I'u'.lln'nll.ll.|I.|l.lh.:..-.u.,u...,

I T T T I
2 4 6 8 10
u
lx=1.01
] TCEq .05

ESo.95

N midVaRg g5
- —
o - FPRTRTI TV I TR T T LTI LT LTI
N
|
¥
! ! ! ! !

arMest = CrMyye

arMest — CrMyyye

arMest — CMyrye

arMest — CrMyye

arMest = CrMyyye

VaRg g5

TCEop.95

8 10

| ESo.95

o -
- -
L
o Lt
S e CE O T O G O e T U LT T
N

<
I T T T I
2 4 6 8 10
U
Iy=1.4
“ midVaRolgs
- -
AT TR L L O LT LU T LLITLCELIN}
o - TS TOTI AU TLL
O O O LT T

arMest = CrMyyye

arMest — CMyrye

arMest = CrMyrye

arMest = CrMyyye

arMest — CrMyrye

VaRg g5

it
Iy

l:I"l"‘ll',-,|-|l":'l|:7:.l|:'-|"'-'.'I"IT:'I:-“-'IE-ﬂTll||||'||I.||-lIrl_-l_:;““”'ll''”'"”"“'””

: iritg
1}
| ||||||||||||||||II||||||I||||II||I|||I|||I||I||I|II||I|||
(11T —
— I|I|||III||IiI|I!|||I|IIII - I I””I”"II”“”“”"”“I”I“
- it
] ||||||||||IIII|||I||I|II'|||I I
— I | | | I
2 ' ° 8 10
U
Ix=2.4
- EVaRo .05
— — |||||||||||||||||I||||||||,|IIIIIIIIIIIIIIIIIIIIIIII
o -
q —
I | I | |
2 ' ° 8 10

- midVaRg o5
- ATy
||||||||||||||||l|l|I|||||||||||I||||II||I|||I|I||||||||| 1
° ] Tl I
I — III||II||I|IIll|IIIIIIII|I|II|II|||III||III|||III||||||I|||I||||I|||||||||
7] ||||||||||||I||I|II|I|IIIIII||I'
N —
|
¥
! T : | |



arMest = CrMyye

arMest = CrMyye

arMest — CrMyye

arMest — CrMyye

arMest = CrMyye

. VaRg g5

__g_-..‘_g.'l_

0=0.33, T=2500

ESo.95

EVaRg g5

midVaRg g5

arMest = CrMyye

arMest — CrMyyye

arMest = CrMyyye

arMest — CrMyye

arMest = CrMyyye

TCEop.95

8 10

ESo.95

midVaRg g5

arMest = CrMyyye

arMest = CrMyyye

arMest = CrMyrye

arMest = CrMyyye

arMest = CrMyye

VaRg g5

_ TCEq o5

ESo.95

~ - midVaRg g5
R
o 4

8 10



alMest — CrMyrye

alMest — CrMyrye

arMest — CrMyye

arMest — CrMyye

arMest = CrMyye

0=0.55, T=75

VaRg g5

| T T T I
2 4 6 8 10
u
Ix=1.01
TCEg.gs

I T T T I
2 4 6 8 10
u
Ix=1.01
ESo.95

I T T T I
2 4 6 8 10
u
Ix=1.01
EVaRg g5

I T T T I
2 4 6 8 10
u
Ix=1.01
midVaRolgs

arMest = CrMyye

arMest — CrMyyye

arMest = CrMyyye

alMest — CrMyrye

arMest = CrMyyye

l'l'lln'"llllll'I,lI"u

VaRolgs
|||I|.||I|||||I|||||II|I||III||||||||||I|I|||IIII||||III|||||||I|II||I||||I||||||||||||I|I||IIIII

I T T T I
2 4 6 8 10
u
Ix=1.4
Mg
v ,,..,”,.|,,,||.,..|||.,||||||||||||||||||||||I||||||I|II||III||IIIIIIII|II|II|I|I|IIIIIII|II_|I ]
LTI LA U - —
- g g p—

ESo.95

EVaRg g5

midVaRolgs

alMest — CrMyrye

alMest — CMyrye

arMest = CrMyrye

arMest = CrMyyye

arMest = CrMyye

VaRg g5

|||||||||II|||||||I|I|||||II|||III|I||||IIT||T‘HFH1-|?5

|:‘|m|I|III'|”||”|I|”|“”|”

8 10

|

EVaRg g5

midVaRg g5

[

inii .|||||i|||i||IIII||I|||I|I|II|II|IIIIIIII||III|||I|II|I|II|||I|III||||||| ™
L

IIIIII|||||||I|||||||||||||||||||||||||||||||||II |




alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

alMest — CrMyrye

0(:0.55, T=250

VaRg g5

10

TCEop.95

10

ESo.05

10

- EVaRo.95
— —
o —
N —
|
¥
T | | |
2 ° 8 10
u
Ix=1.01
- midVaRo g5
— —
o —
N —
|
¥
T | |
° 10

alMest — CrMyrye

alMest — CrMyrye

alMest — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

VaRo .95
ot ! ||-l|.u|l||||I.|||||||.||ll|||I||l|l||I|I.l||I||..lIII|I||III||I|Il||||I|I|||||I|I|£E|||||I|||Iml
" i o il ey iiten

TCEop.95

s I
in ||||I|.|||l.|||||I|I|II|I||||I||",|||IIIIIIIIIIIIIIIIIIIIII SRR,
Al .

fmm,Immm"mlmw”““”m”“

ESo.05

midVaRg o5

alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

alMegt — CrMyrye

VaRg g5

FTIILITLITL
Iyt I|||||I|III|II,IIII|||||I|||I|||||||II|I I
iyl [TTLFTALTY

?‘:E':.::-:.::‘I::::::::I'|III|I|III|I|I'I|II:||-|I-|||||II||||||||||||||||I||”||“|“

|
I
IIIIIII|'”|||||||||I|||I|I|||I|||| 1l

TCEO.QS
it
1 ,,,||..,.m.|||.||||||.|Im||||I||I|,|||||||||III|II||I|| |
LAY ihin e
;,ul. I|.||II||||III UL IIIIIIIIIIIIIIIIIIII||||I|||||||||||I|||||||||||||||||||I||||||||||||||| il
|‘”.,,,|||I,|,“.,|||.||,.||||..||||||
T I | | |
2 ' ° 8 10
U
Ix=2.4
ESO.QS
1!
|||u|||||nmm|||||||||||||||||||||||I||||||I|||II|| |
- IIIIIIIIIIII“||||||II|I|||| e

1
I|III|I|IIIII|I|I||I|I I

EVaRo.95

midVaRo g5




arMest = CrMyye

arMest = CrMyye

arMest — CrMyye

arMest — CrMyye

arMest = CrMyye

a=0.55, T=2500

- VaRg g5 N VaRg g5 N VaRg g5
o o
— = — — =] — —
. i_#'—'l-"—ll ";_-—"'n||ll||||||.,,..-| [T TOT R FRTY 11 PR YT L IPTT YA TTL NTTTR LTI LT YT LT g o 4 l- st il .-"'lll|II'|”|I'."III"'IllI'“l"lIIIIII”I"”Illll”"lll“'IIIIIII”I“II"I"I”I”I g o . I,II,,IIIIH..,I,.|l.nl.rl.-"-""""" " II”I.lI,||||.|"||||I||||'|l|'|“'||"'
I e e I o e ey e s e Iy g e e e e IRy WYY Bt e LS A O T !
- e B I I I Ig R | | o | } ) I‘g n Iﬂﬁmhnpm'ﬂ'|.|lII|||.|'||I||I'|||'I|"|"”' entie e
- =S g YA
] ® ] ® ]
- <Il‘ - <Il‘ -
I I I I I I I I I I I I I I I
8 10 2 4 6 8 10

— N TCEO.95 N TCEO.95
N 2 Lyt st et 2 TP L L AT
YTILITI '7_,--”|||l|”||l,. STLLETT T LLYIYI) E*-‘ Lo ||||,.--".--"'|l|"'"””""”I"""I'" U E"‘ y ]
1 I e o PO TRk T T e e OO IB © TTM...-—"||'-|||||--||I||-"I|"-""""""'”""'IIII""IIIHI"I"IIII"””I'"”"“"III”“II" IB o - , (OO !
] 3] 3]
] <|1' ] <|1' ]
I I I I I I I I I I I I I I I
10

Iy=2.4

= ESO.95 N ESO.95 N
) )
— E - — E - —
o OO T e L [&] -
- |~ — LU pramna |~ . > |I||II|||'|"”""I"I”"”
g o "
. g YA g r
<t | <Il‘ - <|1‘ —
! ! ! ! ! ! ! ! ! ! ! ! ! ! !
2 4 6 8 10 2 4 6 8 10 2 4 6 8 10
H H H
Ix=1.01 Iy=1.4 Iy=2.4
N - EVaRg g5 N EVaRg g5 N EVaRg g5
o g o g o
(8] (8]
— | _ 1 —
g g
Y £ V1 E T
T - T - T -
! ! ! ! ! ! ! ! ! ! ! ! ! ! !
2 4 6 8 10 2 4 6 8 10 2 4 6 8 10
H H H
Ix=1.01 Iy=1.4 Iy=2.4
NI midVaRg g5 N midVaRg g5 N midVaRg g5
o - g o - g o -
— | _ 1 —
g g
Y e 9 g YA
T - T - T -
! ! ! ! ! ! ! ! ! ! ! ! ! ! !
2 4 6 8 10

8 10 2 4 6 8 10

Iy=2.4



arMest = CrMyye

arMest = CrMyye

arMest — CrMyye

arMest — CrMyye

arMest = CrMyye

G:O.8, T=75

VaRg g5

iy, e —

_ | | | | |
i ! 6 8 10
u
Ix=1.01
i TCEo.05
(11111

S, |
||||||||I|III||I|||Il.l||I||||||I|l||||III||II||III|||||I||||||||||||||“|””|“|IIIII
—

.

- : I I I |
2 4 6 8 10
U
Ix=1.01
T ESo.95
[
s il |||||||I||IIIII||III|||||||III|I|I||II|I||I|II|||II||I|||III||I|I
o 4 i T
I O UL L O L L G O O AT T A
<
| T T T T
2 4 6 8 10
U
Ix=1.01
N EVaRg g5
[
o -
N _]
|
T -
| T T T T
2 4 6 8 10
U
Ix=1.01
N T midVaR().gS
[
AT L T IV R
O — e aptaataliiiiniiy
................. T e T L
N _]
|
T -
| T T T T

arMest = CrMyye

arMest — CrMyyye

arMest = CrMyyye

arMest — CrMyye

arMest = CrMyyye

TR
-

VaRg g5

T T : | |
i ! 6 8 10
U
Ix=1.4
TCEo.05
gt

ngioththn
ul! T LLTTLALIVILLT]
AT "_'||I||||I|||| 1]

ESo.95

EVaRg g5

midVaRg g5

arMest = CrMyyye

arMest = CrMyyye

arMest = CrMyrye

arMest = CrMyyye

arMest = CrMyye

VaRg g5

II"I“\' ||| ”"
III”“I“IliI””IIII“”IIIi“IIIIIIll”IIII"I”“I”I”“I“I“|””|I"lllII||||||"”““|Il|"|”| | |I|
il i p penme, .

Jop gy
linhh | o - “”I -
I Ity g |

TCEop.05

gty g g 1
e e g U
e e

ESo.95

[
ol
"“'"IlllllllIn|I|||uulln||||||I||nm|||I|||||||||||||||||||||||||||||||||||||||||||||||||||| (T

EVaRg g5

e TN
||I|II||I||III|I|III|I|I||||IIII|IIII|IIIII|I|IIII|iIIIi|||||||II|||||||I|||||I||I|I|l|||!|||||||||II||||| [TLITTIL]
]

midVaRg g5

] ML"”““"'"'""III'llllInmmnnnnm|m||umumnmm|.|iulunnumummwu_l




arMest = CrMyye

arMest = CrMyye

alMest — CMyrye

arMest — CrMyye

arMest = CrMyye

| T T T T
2 4 6 8 10
U
lx=1.01
] TCEg s

| T T T T
2 4 6 8 10
u
Ix=1.01
] ESo.95

7] midVaRolgs

arMest = CrMyye

alMest — CMyrye

arMest = CrMyyye

arMest — CrMyye

arMest = CrMyyye

VaRg g5

| T T T T
2 4 6 8 10
U
Iy=1.4
] TCEg s

ESo.95

| T T T T
2 4 6 8 10
u
Ix=1.4
N EVaRg g5
— —
o -
N

N midVaRolgs
- —
© PR TIY I T T N TTTITTIIT]
N _]
]
<|1‘ _
| T T T
2 4 6 8 10

alMest — CrMyrye

arMest = CrMyyye

arMest = CrMyrye

arMest = CrMyyye

arMest = CrMyye

] VaRg g5

] TCEggs

Il
bl
|I||||I|||||I|||III|||II||II 1l

Lot

g i Lyt gt
- l"|l,|||||l||'l|"ll|'|Il|||||||I|'|Ill|l|"|I|"'l""l"mll”'ll””l"" TLLETTTLLN |
o

i 1 U U TR |
OIS T T H R |

Loa ot el
LT LTI

] ESo.95

Iy=2.4

7] EVaRg.95

| T T T T
2 4 6 8 10
u
Iy=2.4
7 midVaRolgs




AlMest — CrMyrye

AlMest — CrMyrye

AlMest — CrMyrye

alMest — CrMyrye

alMest — CrMyrye

0=0.8, T=2500

) 4 6 8 10
u
Ix=1.01
. EVaRg g5
o
< ]
T I ' I I
) 4 6 8 10
u
Ix=1.01

o midVaRg g5

o

o -

o

I

<Il' ]
T I ' ' I
) 4 6 8 10

u

alMest — CrMyrye

alMest — CrMyrye

alMest — CrMyrye

alMegst — CrMyrye

AlMest — CrMyrye

VaRg g5
T I ' I I
) 4 6 8 10
u
Ix=1.4
TCEg.gs
T I ' I I
) 4 6 8 10
u
Ix=1.4
| ESo.95

) 4 6 8 10
u
Ix=1.4
. EVaRg g5
o
o i
<
T I ' I I
) 4 6 8 10
u
Ix=1.4
o midVaRg g5
o
o -
o
I
<
T I ' I I
) 4 6 8 10
u
Ix=1.4

alMest — CrMyrye

alMest — CrMyrye

alMest — CMyrye

alMegst — CrMyrye

alMegst — CrMyrye

| VaRg g5

) 4 6 8 10
u
Ix=2.4
. EVaRg g5
o
o -
< ]
T I ' I I
) 4 6 8 10
u
Ix=2.4

o midVaRg g5
o
o -
o
I
<Il' ]
T I ' ' I
) 4 6 8 10
u
Ix=2.4



